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FIN=30E%, #HIEVIEw, =0,(i=012,...,N); Fl4#HK step =3.86x10°s; HAhZ 4
HUE A A AY =[1010]",6 =20, =2,8=05.

ALLE F A
t, =493.038s ;

v, =45.237Tm/s;

12
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s} :E(xi+yij,|:1,2 ..... m;
AR R MR ST BARTTAR R, HERS IR, TR TR,
UL, SRARBIMS T, B — Ry, EEeRA & E R i bt
(2) HRBURMELEE K
BHEEU ={u,,u,,0u, | BEREY ={v,,v, }o A, v U, v, ARENLTE.
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Uik
B s —
MATLAB< T4 &= Ao = G R

I=imread ('E:\2014233333\a.tif');
$V=I*0.1;

[x,yl=size(I);
[X,Y]=meshgrid(l:x,1:vy);

Pp =double(I);

mesh (X, Y, pp)

shading flat

B —
MATLABK Tz B [ 10 7 v 330 H s R T

plate <int max size>

void Digraph<max size>

depth first(void (*visit) (Vertex &)) const
{

bool visited [max size];

Vertex v;

for (all v in G) visited [v] = false;

for (all v in G) if (!visited [Vv])
traverse (v,visited,visit);

}

template <int max size>

void Digraph<max size>::traverse (Vertex &v,bool visited[ ],void
(*visit) (Vertex &)) const

{

Vertex w;

visited [v] = true;

(*visit) (v);

for (all w adjacent to v)

if (!visited [w])

traverse (w,visited,visit);

}

B =

MATLABK T 5 i (4D SKRAFHIFEF?
M 34 mathl.m

function dr=mathl (wl,r)
wl=((Ft/m)*cos (x)+2*v*w) /r*f;
dr=v/f*wl;

M ZAF math2.m

function dv=math2 (wl,v)
wl=((Ft/m) *cos (x)+2*v*w) /r*f;
dv=((Ft/m) *sin(x) -u/r*r+r*w*w) /£*wl;

M SCAF math3.m

function dp=math3 (wl,p)
wl=((Ft/m) *cos (x)+2*v*w) /r*f;
dp=w/f*wl;

M A math4.m
function dw=math4 (wl,w)

wl=((Ft/m) *cos (x)+2*v*w) /r*f;
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dw=-1;

M 344 math5.m

function dm=math5 (wl, m)
wl=((Ft/m) *cos (x)+2*v*w) /r*f;
dm=(-1) * (Ft/Ve) * (1/f*wl) ;

M 314 math6.m

function dt=math6 (wl,t)
wl=((Ft/m) *cos (x)+2*v*w) /r*f;
dt=r/ ((Ft/m) *cos (x) +2*v*w) ;

[wl, r]l=o0ded5('mathl', [-11.84e-4,-3.29%9e-4]1,[1752e+3])
[wl,v]=o0ded5('math2', [-11.84e-4,-3.2%-4]1,[0])
[wl,pl=0ded5('math3', [-11.84e-4,-3.2%e-4], [-10])
[wl,w]=0ded5('mathd"', [-11.84e-4,-3.2%e-4],[11.84e-4])
[wl,m]=oded5 ('math5', [-11.84e-4,-3.2%e-4],[24007)
[wl,t]l=oded5('math6', [-11.84e-4,-3.2%-4]1, [0])

4

gl
MATLABX Tz HIBFGSE K fift Jo 20 3R ] 1 i /MBI FE

function [ x,val,k] = bfgs( fun,gfun,x0)
shiN: x0EME A, funfllgfunsilie HbRREAIELSE ;
s xv val b st AR AE, WEERKRE;
maxk=5000; S AIEACIREL;
h=1700;s=57;
x0=150000;
e=3000;
n=length (x0) ;
Bk=eye (n);
While k<maxk
g=feval (gfun, x0) ;
if n(g)<e
break;
end
d=-B*gl;
m=0;mk=0;
while m<20
n=s*h”m*g*d;
o=feval (fun, x0) ;
if (feval (fun, x0+h*m*d"')<feval (fun, x0) +s*r"m*g*d
mk=m; break;

end
m=m+1;
end SBFGSHRIE
x=x0+r"mk*dk"';

s=x-x0;
y=feval (gfun, x) -g;
if (yk'*sk>0)

Bk=Bk-( ((B*sl) *s) *B) / (s*B*sl)+ (yl*y)/ (y*sl);
end
k=k+1;
x0=x;
end
val=feval (fun, x0);
end
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